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1. Bob died on 1 February 2019. He left an estate valued at £1 million, which included his 

main residence valued at £200,000. 
 

Bob had never married but did have children. His Will states that his estate is to be left 
equally to his children, except for £80,000 which is to be left to an established charity. 

 
Bob had made no gifts during his lifetime. 

 
Calculate the Inheritance Tax payable on the estate. 

 
 
2. Jackie has had an income of £100,000 per annum since 2015, which is significantly in 

excess of her needs. She has recently made various gifts to friends and family members, 
as follows: 

 
14 February 2019 £10,000 to her son on his marriage 
1 April 2019 £5,000 to her friend Kate 
15 April 2019 £200 to each of her six grandchildren 

 
Jackie has made no previous gifts apart from paying £1,500 each year towards one of 
her grandson’s school fees.  
 
Briefly explain any exemptions available for Inheritance Tax purposes in relation 
to her gifts. 

 
 
3. Paul sold his shares in Argoexe Ltd on 15 January 2019. The shares were relevant 

business property for the purposes of Business Property Relief. 
 

Paul is considering spending the full proceeds from the sale on acquiring one of the 
following investments: 

 
1) 30% shareholding in Bigloz Ltd, an unquoted trading company 
2) 10% shareholding in Carpt Ltd, an unquoted investment company 
3) 3% shareholding in Delk plc, a quoted trading company 

 
Briefly explain whether or not these potential investments would qualify as 
replacement property for the purposes of Business Property Relief and any further 
conditions that would need to be satisfied. 

 
 
4. Jacob died on 31 March 2019. He had made just one lifetime gift, which was on 1 July 

2016 when he transferred cash of £440,000 into a discretionary trust he created for the 
benefit of his grandchildren. Jacob paid the Inheritance Tax due. 

 
Calculate the Inheritance Tax payable by the trustees as a result of Jacob’s death. 

 
 
  



 

 

5. In the year ended 5 April 2019 the Gardly Discretionary Trust received property income 
of £16,000 and dividend income of £4,000. The trustees incurred management expenses 
of £1,480, which were met from income. 
 
On 15 August 2018 income distributions totalling £14,000 were made to the beneficiaries. 
 
The balance brought forward on the tax pool at 6 April 2018 was £2,200. 
 
Calculate the total Income Tax payable by the trustees for 2018/19. 

 
 

6. Nadia died on 18 December 2018 leaving assets totalling £800,000. The executors made 
the following payments from estate funds: 
 
1) £12,800 to settle the hire purchase liability outstanding on her car. 
 
2) £2,900 to a Spanish solicitor in relation to a villa in Spain owned by Nadia at death. 

The villa is included in the death estate at a value of £45,000. 
 
3) £500 to a family friend to whom Nadia had verbally promised to make a gift shortly 

before her death.  
 
4) £3,400 to the funeral directors for the cost of the funeral. 

 
Briefly explain the extent to which each of these payments can be deducted in the 
death estate for Inheritance Tax purposes. 

 
 
7. Ismail died in August 2013 leaving his entire estate to his wife Karina. He had made no 

lifetime gifts for Inheritance Tax purposes. 
 

Ismail was born in London to UK domiciled parents and had lived in the UK all his life.  
 
Karina was born overseas to non UK domiciled parents but had moved to the UK and 
become UK resident, when she married Ismail in 2001. 
 
Karina remained UK resident after Ismail’s death and did not remarry before her death 
in February 2019. 

 
Briefly explain how Karina’s domicile would be determined in August 2013 and 
February 2019 and the effect thereof for Inheritance Tax purposes.   

 
 
  



 

 

8. Petra gifted 1,500 ordinary £1 shares in McGoggle Ltd to her niece on 15 January 2019. 
Before making the gift, the shares in the company were owned as follows: 

 
Shareholder Number of shares 
Petra 4,000 
John, Petra’s husband 3,000 
Clara, Petra’s daughter  3,000 
Total issued shares 10,000 
 
The shares in the company were valued on 15 January 2019 as follows: 
 
% Shareholding Value per share 

                   £ 
15% 80 
25% 85 
40% 95 
55% 110 
70% 125 
85% 135 
100% 150 

 
Briefly explain, with supporting calculations, how the shares gifted on 15 January 
2019 are valued for Inheritance Tax purposes. 

 
 
9. Michael died on 10 March 2019. 
 

Michael had made just one lifetime gift, which was in 2014, of a cottage in Cornwall to 
his son when its market value was £410,000.  
 
Michael and his son agreed that Michael would continue to use the cottage for two weeks 
each winter and summer without paying any rent. 
 
Michael took his last holiday in the cottage in August 2016 after which he became too ill 
to travel. At this time the cottage had increased in value to £580,000. 
 
Briefly explain how the gift of the cottage will be treated for Inheritance Tax 
purposes. You are not required to calculate any Inheritance Tax payable. 

 
 
10. The Monza Trust sold two properties during 2018/19. 
 

Property One was a commercial warehouse which was sold on 1 September 2018 for 
£400,000. The property was originally purchased by the Trust for £280,000 in July 2001. 

 
Property Two was a house which was sold on 1 December 2018 for £210,000. It had 
been commercially let to a third party throughout the Trust’s ownership of it. This property 
was the main residence of the settlor until it was transferred into the Trust in February 
1996. The property was originally purchased for £40,000 by the settlor and had a market 
value at February 1996 of £85,000. The gain of £45,000 on the transfer into trust was 
entirely exempt as a result of the principal private residence relief available.  
 
The Monza Trust had unused capital losses at 6 April 2018 of £8,900. This was the only 
Trust created by the settlor. 
 
Calculate the Capital Gains Tax payable by the trustees on the two disposals made 
during 2018/19. 

 
 



 

 

11. In January 2017 Jean made a gift to her nephew and in August 2017 she made a transfer 
into a discretionary trust. At the time she did not realise that there might be Inheritance 
Tax implications and so no returns have yet been submitted or payments made of 
Inheritance Tax. 
 
Jean has recently realised that this is incorrect and is planning to submit any necessary 
returns in June 2019. She has been advised that Inheritance Tax of £7,800 is payable in 
respect of the transfer to the discretionary trust. 
 
Briefly explain, with supporting calculations, the penalties Jean will be liable for in 
respect of the late filing of any necessary returns. 

 
 
12. Arthur made the following lifetime gifts: 
 

14 February 2014 £200,000 cash gift to his son 
18 November 2015 £100,000 cash to the Miles Discretionary Trust 
1 May 2017 £500,000 cash to the Yard Discretionary Trust 

 
Arthur paid any Inheritance Tax arising as a result of these gifts.  
 
On 1 May 2019, the Yard Discretionary Trust made a capital distribution of £80,000 to 
one of the beneficiaries. On that date, the relevant property held in the Miles 
Discretionary Trust was valued at £310,000 and the relevant property held in the Yard 
Discretionary Trust was valued at £640,000. 
 
Calculate the actual rate of tax to be used by the trustees in calculating the exit 
charge for the capital distribution on 1 May 2019. You should ignore annual 
exemptions. 


